(A7)

MBRREF—RER (1 8F[H)

Gifz JeERT
1 —RE|FRUFIRHOMBRRE (L LTERBELKHICHRDI D)
(BAH)
- = g o4 fE (esips| WO OZ o R OEOE
=N m BARX EHERX = = 5 &
" " " BES | OBAE | g z0MiE wnseczan|
—’R<E 3,309 3,253 56 55 4,689 325 245
X4 105 119 A 14 A 14 64 14
TEaE 3414 3,372 42 4 4753 325 245 e
2 1USNOFRRFHOMBIRE (AEBRXRRFTICHRDSIBLD)
(BAH)
RBEE RBHAMEF o, amaz-nmar| A FR| B A A KEMS
(B A) (@m) PAD "aeex | (rp)@E| BE s | oA | B
[EEESCE£3 12 3 9 9 154 7| EERATE
BRaABIERRY <;‘{&)\>96 <;%*&Hi>96 <ﬂ2itlbz1i> <§Elbz1i> 1 591 24| EIEEH
P [N - (&) - <ﬁaitmz1sz> <§§mz1sz> 1 476 18
R <r{w\>19 <r{m>19 <ﬁaitmzosz> <§§u1035> 0 s p
ry—exgx| BA_ LI W) (RERD) P 273 335
SHERIEEEAT—L 318 296 26 26 26
StEMARER 40 37 3 3 3
SEEAF1H—ER L~ 27 50 A 23 A 23 A 23
s (?ﬁ*&)\) (RH) (FERURZ) (RHIRX)
ERSHERELHD) 376 151 I\ o5 25 25 38
et R <r{&)\> e <r{m>325 <ﬁaitngsz> <§§ng35> 9 P
P (BA) (M) (FERURZ) (RHIRX)
NREHRBH L) 294 209 x 5 14 14 36
KSR RFFICESITA LI DNTIK. RBEBEICESENTLEL,
3 BRYTSI—HEHHESEDOUHBIK
(B7HH.%)
m A B W BRlx BHE X (BB th A E | B I € | ZAKD B =
(BEBEE) GhggE) ™ GERE-ARER| (FE)E) | B E & | B E & | &S
ity S 614 603 11 11 2,322 0 55
tZmeReaas 87 86 1 1 0 0 16.0
EMHHTE L 5— 30 26 4 4 0 0 1.6
LZREERRAE 170 165 5 5 224 30 15.6
RN B EI S 1,224 1,177 48 48 60 8 7.2
IEZEmMEFHEE 24 23 1 1 6 0 6.8
P e ) 28 [€7%-4::D) . € -E=3) (RHIRX) 4 714 3.261 23 59| #EReZ
4 F=EIVA—Z0RERREUVAXHFAKRDMBMNZEDK
(BAH)
EEE EAXIE  HEEAGKS BHREGKES BHREES LmAGsSL LAGKLHD
'*(:FF‘:]) EHREIE | SOHES SOEME SOEfMNE OBBRIC OBXWHEC] B &
(FA) (FA) (FA) (FH) REEHEES ROIEBES
JbERE N 241 11,295 9,500 12,000 30,000 0 0
JtE L HBAR N A 56 12,461 3,000 0 0 0 0
5 BBEH
B B h E % 0.150 £ B IR X Hk =E 2.8
EEAEBEE K X 17.7 B e R X b FE 86.0
ZEBBRE (BHH) 1484 2 BRE M B R BT ARE (EHRA) 89.7




